o] B4 XtZE(RDR_CMP_{HSR|PPI|CPP|CMX}_PUB) ZSH HH

1. XI24 X
AlZF A 55
=27 s At s 500 m
A A= 2305 = 2881
Fodubg Larrbert conformal conic projection
IEHEE N 38.0° E126.0°
A=
7| =247 1121, 1681
X oy HB
&l .4 1024 bytes
HEALE 2 bytes(short int.)=2305=2881
ARP=
sl 2 bytes(short int.)=2305=2881
AHER 2 bytes(short int.)=2305=2881
H|etE S 39,845 254 bytes
CHEHUY EAE #TH E A4 1 -20000
GEFE%“'Q."'—H u|4 ood NULLEY @ -25000
CZbECRA Yk NULLZY @ -30000
g HE Oy
-HtAFE(dBz) = 44 [ 100
~1EHE(m) = u.k
X HHE = gt
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3. o ™HE

o =
(1 RDR_CMP_HEAD&4 bytes) + (2 RDR_CMP_STN_LIST(20 bytes! X 48 = 1024bytes
(1) RDR_CMP_HEADI(64 bytes)
Sima e 37|{pytes) o4

char  version 1 ol
shorl  plype 2 M HProduct
struct TIME_SS tm 7 Yol ZHEA|L
struct TIME_SS tm_in 7 BlMEIE Maa| )
char  num_sin 1 o AMEE Yol AEs
char  map_code 1 P R
char  map_elc i 7|l Rz HEIE(HH])

struct shorl  nx 2 XE HEAHS

ROR CMP HEAD short Ny 2 Y& HAET
short nz 2 2= HXHEHs
short  dxy 2 HAFXEIbe| =HHZIm)
short  dz 2 AR b2 F=EH2 M) (nz=10|™ dz=0)
short  z_min 2 e = 12l # AAXMITINm e <= 109 J)
char  num_data 1 [rwwé 17 ZeEdHes #HaM, HEE

A =R

char  data_code[16] 16 MHEES ARZEYHY EM TE
char  etc[15] 15 | |

* plype: OFFI0), HCAPP), 2(CMAX), SETOP), HEBASE), SHSR), 6(HCT), TVIL), SWIND), HLNG), 10(PCF), 15(NUM)

* map_code: 1{(FHH : LCC, 7| FfA T : 38N, 126E, 7| F HXH : =HollM 1121, FollA 1681 H)
2iFde 1 LCC, 7| =9 AT ¢ 38N, 126E, 7|3 Z4AIH : Hoj A 801, oA 100125

+ data_code: 10l3), 2(1E) 3XE=M), 4FMEF, FHUAMSEAERS), ST, 67,

15(3kmolat Dol chsted B Al LHIL ol ol 27t HRIE B

(2) RDR_CMP_STN_LIST(20 bytes)

g b £ o = 7|(bytes) ck

struct char  str_cdlB] 3] Mo AFEI=
struct TIME_SS tm 7 Mol HEAZ;

RDR_CMP_STN_LIST ot TIME_SS im_in 7 EE R EEE,

* TIME_SS(7 bytes)

= Hi = 27| {bytes) Ao
short Y'Y 2 =
char N 1 #
struct char DD 1 =
TIME 55 char  HH 1 A
char M| 1 =
char 355 1 *




